Ottawa 1 11/8" (10

A

65/16" x 70 7/8")

N
=
)

LTI I I I

V4

P

B

190417

Log Structures
Uo-It-Yourself Building Kits




Ottawa 1 11/8" (106 5/16" x 70 7/8")

Foundation

190417

Impregnated foundation beams

AAark\ Type \

Profile

\Count\Length

IFB

IFB
40X70

4

105
7/8"




114 3/16"
Floor Plan

Ottawa 1 11/8" (106 5/16" x 70 7/8")

@ Baseboard

52,7 ft2
3/16"
e

Floor Schedule

I\/\ark\ Type \ Profile \Count\Length

FB |FB18x110 25 681/2"

W\

315/16"~11/8"

283/4"

) 56 11/16" 283/4"
7

l

" ‘ n "

/16 /8 /8
315;/ %ﬂ1 1041

|
11/8",-315/16"
Wiy

BB2

B
190417




Ottawa 1 11/8" (106 5/16" x 70 7/8") wall

Wall Profile | Count

28x57
28x114
28x114

Log Profile Wall 1
Profile \ Profile

i

28Xx57

1 Bl-1

56 11/16" 283/4" 315M6"
v v
7

190417




Ottawa 1 11/8" (106 5/16" x 70 7/8") wal

Wall2 Profile | Count

28X57

28x114

28x114

2TL-1
2 LG
2 LG
21G1 Log Profile Wall 2
2 LG
LG Profile \ Profile
2 LGA

2 LG
28X
2LGA 57

2 LG G
2 LG

2 LG-1
2 LG-1
2 LG-1
2 LG-1

2 LG
2 BL1

114.3/16"

190417




Ottawa 1 11/8" (106 5/16" x 70 7/8")

Wall A

190417

Wall A

Profile| Count

28X114

28X114

28X114

28X114

Log Profile Wall A

Profile \ Profile

28x114




Ottawa 1 11/8" (106 5/16" x 70 7/8")

Wall B

190417

Wall B

Profile | Count

28X114

28X114

28X114

28X114

Log Profile Wall B

Profile

Profile

28x114




Ottawa1 11/8" (106 5/16" x 70 7/8") o

AAark\ Type \ProfHe\(Zount\Length

Roof 1

RFB | Beam 1 122
40X120 1/16"

RoofBoard 873/8"
18X110 .

190417




Ottawa 1 11/8" (106 5/16" x 70 7/8")

Roof 2 @ Facia

Fascia Schedule

I\/\ark\ Type \ Profile \Count\Length

EE  |Eave Edging 2 89"
18X40

Roof
reinforcement
18X90

NN |

0

Roof
reinforcement

@ @ @RoofReinforcement 18X90
©)
[Inimnm

EE

Hl_ﬂ Roof
o reinforcement
0

j

j

j

j

j
5
0

j

)

=- Roofing 38x38
Sheet

RR1

190417




Ottawa 1 11/8" (106 5/16" x 70 7/8")

Extras

[

Door Schedule

Model \ Type \ Width \ Height \Count

BDD1R |Basic double |56 1/8" |76 15/16"
door 1right

Door
crossbar 6

Fasteners/Extras Windboard

Name Comments |Count Type \ Count \ Length

Hitblock |1113/16"-15 3/4" Windboard 1 86 5/8"
Bolts M5/16" x 2 3/8" 18x40
Screws [3/16"x23/4"
Nails 1/16" x19/16"
Screws [1/4"x51/2"
Screws [3/16"x19/16
Screws |3/16" x 2"

190417




Ottawa 1 11/8" (106 5/16" x 70 7/8")

List of all items 1

Impregnated foundation beams

Floor Schedule

AAark\ Type \ Profile

\Count\Length

AAark\ Type \

Profile

\Count\Length

IFB  |IFB
40X70

L

4 105
7/8"

FB FB 18x110

25 681/2"

Roof

Fascia Schedule

AAark\ Type

\F%ofﬂe\Count\Length

AAark\

Type

Profile

\Count\Length

RFB |Beam 1

40X120

122 EE
1/16"

RoofBoard
18X110

873/8"

Eave Edging
18X40

2 89"

190417

Roof

18X90

reinforcement

Roof

18X90

reinforcement

Roof

38x38

reinforcement




Ottawa 1 11/8" (106 5/16" x 70 7/8")

List of all items 2

Wall1 Wall 2

Profile | Count Profile | Count

28X57 28X57

28x114
28x114 28x114

28x114

Wall A Wall B

Profile| Count Profile | Count

28x114 28x114
28x114 28x114
28x114 28x114
28x114 28x114

Log Profiles

Profile

i

Profile

28x57

190417






